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' ...@’ -j' Answer any FIVE* fuIl questlons IR . L
,@’ : _Assume suitable data W hc:evek neeessary but mcntlon th'lt assumptum exphc:ﬂy RS
1. With “Healthcare” and “Built environment” as the variables, Elaborate on the following:

1A. Research Process ,
1B. Research Hypothesis
1C. Research Objectives
1D. Research Outcomes
(4+2+2+2 = 10 marks)
2. Explain any FOUR of the following:
2A. Importance of Ethics in research
2B. Stratified Sampling
2C. Cross Sectional Data
2D. Time Series Data
2E. Multiple Criteria Based Decision Making
(22 marks x 4 = 10 marks)
Following Data set talks about the Ground Coverage and their Heating & Cooling Load of
Building (kwh/m2/yr.)-
Serial No. | Ground Coverage | Heating & Cooling Load
(in Percentage %) | of Building (kwh/m2/yr)
1 40 150
2 30 120
3 10 80
4 20 110
5 25 150
6 30 125
Use the above-mentioned data for Question 3 and Question 4.
3. Figure out if the Heating & Cooling Load of Building depends upon the Ground Coverage.

Also interpret about the nature of dependency.
(5+5 =10 marks)
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: Assummg thezc is a linear 1elahon between these two palameieis estab iSh “the hnear_f';_.'_f__

- regression model between Glound Covex agc and then Heatmg & Coolmg Load of Bulldmg.z-' -
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_ .'COilSI(fel the case of pol!utlon )| Delh; and assume Ehal this pollunon is only dependeni o1 the'_' AR
'_"tlanspmta’uon (dlffelenl veincles) Also consxde; lhe fact Ehat nelthek all of thc veh}.cles'__.':_' ..

£ running on the streets of Delhi are Jegxsteled in Road Transport ofﬁce of Delhi nor all o f the
..-vehmles registered in Delhi Road transport Ofﬁce are running on thc sueets of Delhi. Now' L
-dcveiop an uncertainty analysis modei to undeistand the p0331ble variations In the dlffeient_ HRRRG

| "lypes of vehicles running on the streets of Delhi accordingly answer the followmg

Objective Function
Variables
Constraints
(4+3+3 = 10 marks)

A company has a total of 720 employees in four different categories. Managers ~ 72; Drivers
— 108; Admin staff — 180; production staff — 360. Gender Ratio (M: F) in the office is 1:2.
Mention the type of sampling in this case, where all of the given data can be used. How many

from each category should be included in a sample of size 807
{(4+6 = 10 marks)
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